Two functions are said to be identically equal if

SPSU Math 1113: Precalculus
§8.3 Trig Identities

Sfoo) = g(x) 26. sinucscu — cos? u = sin?u

for every value of x for w_hich _both functions are sinu —cos?2u = sinZu

defined. Such an equations is referred to as an sinu s

identity. 1 —cos“u =sin“u q.e.d.

- . see . + — =
Basic Trig Identities 30. (csc O + cot B)(csc B8 —cot BZ) 1 ,
N R CSCZ chotz D= 1 _ cos &8 = 1—cos~ @
Quotients: ine o 2 sinZ @ sin? @ sinZ @
— sin — cos _ sin? 8 _

tan @ = cos 6 cot® = sin8 ~ sin2@ — 1 q'e'd'
Recipricals:

cscd = _1 sec = —~ 62 sec@-cos6 _ sin? @

sing cos @ cos8 " secB+cos8 1+cos? @

cotl = % = Sme a5 959 _ 1-cos’6 _ _sin’@ ed
Pyt_haigeorean:zﬂ 1 —,+cos8 T 1+cos?6 ~ 1+cosZé 4q-e-

sin“ 6 + cos" 6 = s

tan’0 + 1 = sec’ B cot’® + 1 =csc?0
Even-Odd: 1—cot? 8 2

X . 68. ———-+2Zcos“ @ =1

sin (-0) = - sin © csc (-0) =-csc O 1+cot? 8

cos (-0) =cos 6 sec (-8) =sec 0O _ffm;‘g 2 2 R 2

tan (-0) =- tan 6 cot (-0) = -cot 6 = —2ns + 2cos° 8 = sin® @ — cos® 8 + 2cos“ @

sinZ @
Use Standard Algebra to Simplify Trig Expressions =sin?8 + cos?20 =1 Q.E.D.
Often simply rewriting in terms of sin & cos is enough.
cos @
coté _ Gjng _ cos@ sing
& eew -7 ~ sing@ 1 cosé
cos@ _ 1-sing Homework
b. Showthat ——— = ———
1+sin & cos 6

Do problems for §8.3

Multiply numer & denom by (7 — sin )

cos® _  cos@ 1-sin® _ cos@(1—sin@)
1+sin@ ~ 1+4sin€ 1-sinf  1-sinZ8
cos @(1—sin&) 1—sin@
= = .e.d.
cos? 8 cos & 9

i . sin? p—1 .
C. S]l?ﬂpllfy AN vsinv_tany by factormg

sin? v—1 _ (sin v=1)(sin v+1) _ sin v+1

tanvsinv—tanz tan v(sinv—1) ~  tanw
1 1

14. 1—cosv & 1+cosv

_ 1 (1+cosv) 1 (1—cosv)

- (1=cosv) (1+cosv) (1+cosv) (1=cosv)

_ (A+cosv)+(1—cosv) __ 2

- (1—cos?v) ~ sinZwv

Establish the Identities
This means prove that the identity is valid.
20. sec O -sin O =tan 0

sin 8

cos @ -sin@ = cos 6
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